@l A e 4
48 : 04-8350451 114438 Firgun ANK  Fnd
}% ??3»13 % F 006828 Qi:‘F

;Eﬂ % @ lJ \- @ B T 1=%8:a8350451@yahoo.com.tw LiEFH011338] b

AT TR A
8 g%éi%‘l%ﬁﬂﬁ
II\\$‘ )

o] = Neyey:
hbm B

TEBB XD P74
S2L(0
F BT

Y T [k [ 2
3o K125

6K E [BEAA:
- -

FE:

L\B
£) T RIBPY 52 (1152)
SR MEER,L = R (OB 1)

N
/
HE ANPAN=CIN=|
AN =¥
T T52AF [B&H: |
1089 EES

-+




3" - FFEHEPw(PLR - AT E IR

ﬁfﬁl«){ﬁjﬁféﬁﬁw 11433;] E%Pﬁ % ng‘? /'?\”:K t'_}}—i" 7*"—7‘}}—’7’7}"__ : év /‘?
7K
gElﬁ B it BARGE) FHE R INTE) = i mARGR) Bl k| mamee B - E{ INTE) bl B mamm ﬁ’
Tlessw |ewEn on

3 BoRER | & EIRER |k TREAE) |8 EARWE |0 EERmE |z WRAEB(NZR) | 3 — samE | 62
EMIEPS 120 |EE#HW 65 584 g |20 EXK 20 EEEX 110 |85 20 118g| zmman| 2.1
3 EHEA 20 #E 55 FA¥-15] 10 ANE fn|10 BE - 308 | 2.0
A HEZET 20 azEE 10 yN=E2 10 28g| mAsE | 2.6
" ALZEE 5 EoE | kKR8
H #ZKE 5 35g| W4

857AF
| AR B3 B | EEIE T | & BIENERE | 1 FEERE |IE ABTESE)| & RS e | 62
EMI=PS 80 EEFEA 60 EEEET 40 SEX 40 ABEEXR 120 |BHSB g |20 115g| zaman| 2.4
+ | AR 40 |BHE 1 BieE 30 EHERA 10 EHE 20 BE - w308 | 2.0
A AZEE 20 FA- 3] 5 BRIG K 3 28g| mAsE | 2.6
?E FE 10 s 10 =aE | keE
= 1]tk 3 35g| 4@
28 HE:

852K F
3 SR ES R T () | JE BAKES |1 MTRE | & BEEHEE |2 SHBEIRBE) | A A xaE| 6
B 8% 120 |AEES#T 55 EEEFEA 20 EmE 5 EEEX 110 |&HEE 10 116g| samzn| 2.3
5 e 20 EHERA 20 HZEE 10 E2: Ty Z |10 RS wEE | 2.2
A A7) 10 Ex 10 A3 ] 5 28g| HBEE | 2.5
5 R 20 o | kEE
= FAR-1o] 10 35g| 4@
F3:44 ME:

852K F
3 MRER | 28 =EBEAE) | 1 HELE(E) | ZEV/NEE | 12 FETE = ERELS | & A B | 6.2
IEMI=P'S 100 |&@#E )8 |50 g8 2 |50 /R 40 FEBEEXR 120 |EK 30 117g| samzs| 2.3
o [HI 50 FEE 20 b 1 #HE 30 AEfs: R | 2
B 1ZE 10 4IEE 5 28g| JHPSIE | 25
;E'E B i 1 ELE: | KRE
m ZIE 3 31g| M
% =

858K F
s | FSTEARE | B BIE MR | (2 BEXOTEEE | KO EBrNE | FREIFE (= rExES | & A TEE | 62
B izl 160 |SEEZRE 65 e 40 HE 55 RESHE 120 |F3% 5 117g| samzs| 25
1 |41EEE 10 AR-1o] 10 HEEE 20 RS wxE | 2
B |E8ERA 5 EEARE 10 27g| s | 2.3
5 | ¥R 10 e 30 snE | kEE
il 359| W8
Y HE:

856 K F




3" FoFFHEHP w(PLAR] -1
b

IR
no

T % TR

7K
gElﬁ B HEE| mARGE) FHE R INTE) = #ix| mARE) Bl k| mamee B - E{ INTE) bl B mamm ﬁ’
ewsy |anEnou

3 =P £ speaEE | g METEE) | & wissrsm | K0 EEEE |IB FHEBZR) | A e sem| 6
BlBXK 120 |4E8FER 60 9B g |60 AR 0|40 EEEX 110 |EK 30 117g| zaman| 2.3
10 EHFERA 10 = 20 AR 10 #E 30 RSB wxE | 2
= FA- 3] 5 AZEE 5 279 mBEE | 25
= T 10 BaE | kRE
— 35g| Wi%E

854K F
3 Az E ERTEDH & 5EE W BEANRE | 1 REBEE (= BERSS | A A B | 61
ERI=FS 80 |EEEHW 65 FHE 40 HE 55 FBEEE 120 |BEF 10 118g| zaman| 2.5
u | AEH 40 EERER 20 SEX 50 LB P4 5 BEhs: g | 2
=] e 2 5] 27| s | 2.4
?ﬁ Z i 2 Rlmoa | xem
= BE 2 35g| 4@
&Y HE:

857Kk
3 =R NES B=CERBE(E) | YE ERAEE) | N F&EIRT |1 EEIEE (s HEZ | A i TEE | 6.2
BBk 120 |AEEFHERR 65 EHERKA 20 5% 50 EBEE 110 |85 30 118g| samzn| 25
2 I E 10 e 10 #EEE 10 AES: HE | 1.7
= {ZIIN & (20 ZAE 10 28g| mBsE | 25
" ALZEI 10 zaE: | keE
= EHEA 10 35g| 4@
F3:44 HE:

861KF
3 MRER | 28 BEImAEEE | k2 EWEEE | K renzaesn | Y FETE = EREERIS = g B | 61
BBk 100 |£HEA 60 HE 55 8RR |8 (35 FEEE 120 |%1 30 118g| samzs| 2.3
13 [T 50 BEYE < (20 A= 5 R - wxE | 2
A Bt 1 BhR 1 28| MiEHE | 2.3
;E'E ELE: | kRE
s} 359| Wi
% =

857Kk
3 [IBEEREWE K MWoRZEEE | W TEAEEA | WD A0 | & RBEE |2 BERIES | A A TEE | 62
B |8k 110 |&ESH#A 65 EEFE A 20 BA 30 FEEE 120 8% 5 118g| samms| 2.3
u |EES) 44 10 TEMpEE 60 RN 5 RER: HHE | 18
B |E8ERA 10 FAE-2] 10 279| hAEE | 2.4
;E'E FoKmi 10 ELE: | KRE
n [FE 30 35|
e 55 nE:

856 K F




T HRZEFEP w(PAR -2 AT F 1R
anNTasER 11437 FE 2 EF 8=z Rilds @ L8
7K
gElﬁ ES=] | mames) E=a | mAme) EEd #r| BAREE Bl k| mamee B #ix| mARGD) 5 x| mARE) ﬁ’
ewsy |anEnou

3 BRER |2 WMISZERE | & ERNOE) | K0 EMENE | KW EBEE = ARBD) | A e e | 61
EMIEPS 120 |EEZERR 65 gF g |40 HE 55 EBEEX 110 |AA fn |10 115g| zmman| 2.2
Y = 20 R 40 FA¥-15] 10 A g | 2.3
A LEFEA 10 EmE 5 25g| mAEHE | 2.2
?E BEE: | KRE
— 30g| W&
RY HE:

809K F
3 hEk B3 ZThisEHE | k& QQNE |N HINMEIEZE | 1 REBEE (= BRECHE) | A i e 61
ERI=FS 80 |£#HEA 60 HE 55 EHERA 30 FBEEE 120 |85 10 117g| zmman| 2.2
1 | AFOK 40 | ZJi 1 BieE 30 4175 3 Bshs: B | 2
A HE 30 #ZKE 2 28g| HFSHE | 2.5
” BhE 2 28 215 zaE: | keE
- BE 30 35| 138
&Y HE:

858K F
3 =R ERES EERE(E) | VE IR HAKDIEIR| K FtEEm | W EEEE = KIS ES(E) | & i e | 61
BBk 120 |AEES#T 50 EEFE A 20 EHEA 50 EBEE 110 |28 g |20 117g| samzn| 25
19 BEIR 40 R 30 AT 10 R N 3 AES: s | 21
= IERE 3 28g| mAssE | 2.6
?E BQE | kRE
= 359| Wi
&Y HE:

858K F
3 MRER | 28 FRIAZE(NR) | 2 e REosE | YE BEXOTERIZE | 10 FREIFE (= &5 |A A TEE |61
BBk 100 |SE&IEAM% 30 EEBR |8 |40 TEMpEE 60 FEEE 120 |H#&E 30 118g| samms| 2.4
20 | HTTIN 50 PN AN (30 HZEE 10 SHEER 1 RS HEE | 2.2
A N=E2 20 279 MmBEE | 2.3
;E'E A1 20 ELE: | kRE
m 7 N=E 10 35g| i
% =

853K F
s | BEZDSE | & GEZE | ke SRAHVTEE) | KD mrresme | YD FETE = BREAES | A B TEE |61
B |3k 100 |SEEzW 65 i 20 =177 10 FEEE 120 |%&BIE 10 118g| srmasn| 2.2
n |ATEE 2 AR-1o] 10 1E=E 10 EEHHENR 15 RS w2
a | a=p 1 EBE 40 gF 40 =E25) 15 28g| slsEE | 2.4
fg #ZEE 5 Eﬁ%?ﬁ% |10 W ELE 10 =aE | keE
7 |BIEHR 10 EHOE |23 31g| E
Y e

861K F




3" e ¥ FEP w(P AR | -L &< § 1R
7K
gElﬁ 8 #iE| mAmGE) FHE #ax| mARGY Bl%E x| ARG BlZE #i| ARG e | mARGD ol #er| mAEE) ﬁ’
" lamst |awEs)
3 =FiN: T3 =M |= HEEx2() | k& 5E8E | EERmE |z TRBEB®R) | R o o | 56
BlBXK 120 |EHERT 65 1R 50 BE 40 EEEX 110 | IRkl 10 108g| samaEm| 2.3
2 LEE 5 P-4 10 FAR=1] 10 HE 30 RSB wE | 1s
=] 2R 2 HEE 5 23.5g| HAEE | 2
= R 10 FaE | KRE
— 27.1g|
&Y HE:
752K+
| AR E3 RIEMARE | k2 ANRE A | YD SETEEM | FRIERE (= HEELS | A A xaE| 5
B |BXK 80 EREZERR 60 INER 20 EEFERIK 40 ABEEXR 120 | KBE% 20 115g| samEn| 2.4
s | ARk 40 AR o200  [EE 30 HE 30 B 5: HEH |19
=] FEARE 10 HEE 10 AR ] 5 25| mAsLE | 2
?E EEE | KRE| 0
- 30g| Wi
&% e
809K+
3 BRER | 2 WEEEAME) | XE WREEE [N wpEeEe | Y EEEE = EERHBE) | A RE4E: TEE | 61
B|BX 120 |E#EA 65 B4 20 EmE 3 EEEX 110 |#E f& (10 101g| seman| 2.3
% TR 10 #E 55 AZEE 10 EEHFER 4 10 A5 wmaEE | 2
= AR 1] 10 5379 = |20 24g| RE¥E | 2.3
?E EAE | kRE
= 30g| Wi
&% e
740K F
3 MRER | 28 S |k EROE | BERAR (W RBHTE |12 SEKES | & AR TEE| 5
BBk 100 |S-@E#EHE 60 E*K 20 SEX 30 FEBEEXR 120 |5 10 100.5g| semEE| 2.5
2 |H#h]I 50 #E 55 #ZEET 10 RIg 3 R h: B | 2.1
= AT 10 RERED 5 2459 s | 2
" ERFEA 15 ZaE | KRE| 0
s} 26.6g| WA
3] =
729K+
3 BSER | # BEEHE | HEST(T) | & saTmsaesn | JE FETE = = A TeE| 6
BlBX 100 |&#3EA 60 +7T =2 |30 FEEKERTE |40 AEBEEXR 120 |5 10 116g| seman| 2.1
» SEEW 2 EHERA 20 LESS) 40 FAR-1o] 10 R B: wxE | 1s
B |Z i 2 EE 20 ZKE 10 18g| MBEHE | 2.2
;E'E 5= 2 A1) 5 BEEE | KRE
f i 2 28g| M
&M EHEREE 2 e
SiRE 2 766K




3" 5T FEEP w(PLR - BT E 1R
z B2

aMblaasEs 114# 37 Fe Y e Rkl Rl A S
7K
gElﬁ 8 HEE| mARGE) FHE #ax| mARGY Bl%E #ix| mARE) =l #i| ARG BSE | mARGD ol #er| mAEE) ﬁ’
" lamst |awEs)
3 BoRER | & RIMEZE | A WEBFR(E)| ¥ ARNE | EBHRE (IR BqEZ | R . LA
B |BXK 120 |AfEEHT 50 INER 30 HE 55 EBEEX 110 |85 30 101g| srman| 2
3 JKim 10 2Tk 2 |40 EHERA 10 #zEE 10 RSB wzE | 17
=] HEE 10 19g| SHAsEE | 2.5
= EHERA 5 EaE | kEE
- 26g| WhiE
B =
6904 F
[N Ea-t|
iz SRAER
B f: iz
A Bl E
EAE: KR4
LS
2% mE
FELR: ESE
A SRHER
B :
A s g
E=IH JKR%E
LS
2% mE
xR e
A SRHESR
B s: i
A Bl cE o
ERE: JKREE
| LS
£ e
fE4E:
A
LELGR
H
ERE
&5 e




